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G.GPE.B.5: Parallel and Perpendicular Lines 6

1 What is an equation of the line that passes through
the point (—2,5) and is perpendicular to the line

whose equation is Y = % X+57?

) y=2x+1
2) y=-2x+1
3) y=2x+9
4) y=-2x-9

2 What is an equation of the line that is perpendicular
to the line whose equation is y = % X —2 and that
passes through the point (3,—6)?

1) y:%x—ll

2) y:—§x+11
3) y:—gx—l

4) y=§x+1

3 What is the equation of the line that passes through
the point (—9,6) and is perpendicular to the line

y =3x-5?

1) y=3x+21
1

2) y——3x—3

3) y=3x+33
1

4) y_—3x+3

Name:

What is an equation of the line that contains the
point (3,—1) and is perpendicular to the line whose
equation is y = —3x +2?

1) y=-3x+8
2) y=-3X
1
3) yzgx
1
4) y=§x—2

The equation of a line is Yy = % X+5. What is an

equation of the line that is perpendicular to the
given line and that passes through the point (4,2)?

1) =%x—%
2) y=%x—4
3) y=—%x+7
4) y:—%x+8

What is an equation of the line that passes through
(-9,12) and is perpendicular to the line whose

. 1
equationis y = 5 X+6?

3

1
1) y=§x+15
2) y=-3x-15
3) y:%x—13

4) y=-3x+27
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7 An equation of a line perpendicular to the line 10 What is an equation of a line that is perpendicular
represented by the equation V = 1 X—5 and to the line whose equation is 2y = 3Xx — 10 and
p Y d y=7 passes through (-6,1)?
ing through (6,—4) i
passing through ( ) is D y= 2 -
1 3
1) y=—x+4
2 2
2) y=—7%5Xx-3
1 3
2) y= X 1 )
3) y=2x+14 3) y=3x+1
4) y=2x-16 4 y=%x+10
8 Which equation represents the line that is
perpendicular to 2y = X + 2 and passes through the 11 What is an equation of the line that passes through
point (4,3)? the point (6,8) and is perpendicular to a line with
1 . 3
1) y:zx—S equat10ny=§X+5?
5 veleid ) y-8=2(x-6)
) y - 2 X+ y - 2
3) y=-2x+11 2) y_gz_g(x_@
4) y=-2x-5

3
3
3) y+8=§(x+6)
2

4) y+8:—§(x+6)
9 What is an equation of the line that passes through
the point (2,4) and is perpendicular to the line

whose equation is 3y = 6X + 3?

) y= Xt S 12 Which equation represents the line that passes
1 through the point (2,—7) and is perpendicular to the
2) y= S X+ 4 3
line whose equation is Yy = — X +4?
3) y=2x-6 4
4) y=2x 1) y+7=%(x—2)

2) y—7=%(x+2)
3) y+7:—§(x—2)

4 y-7=-

(SSTIEN

xX+2)
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13

14

15

An equation of the line perpendicular to the line
whose equation is 4X — 5y = 6 and passes through
the point (-2,3) is

1) y+3=—%(x—2)

2) y—3:—§(x+2)
3) y+3=%(x—2)
4) y—3=%(x+2)

What is an equation of a line which passes through
(6,9) and is perpendicular to the line whose
equation is 4X — 6y = 15?

D oy-9=-3x-6
2 y-9=2x-6
3) y+9=—%(x+6)

4) y+9:%(x+6)

Line segment RH has endpoints R(—4,4) and
H(2,—4). Which equation represents a line

perpendicular to RH that passes through the point
(39_1)?

1) y+1=%(x—3)
2) y+1=—%(x—3)
3) y+1:§(x—3)

4) y+1=—%(x—3)

16

17

19

20

Name:

Write an equation of a line that is perpendicular to

the line y = % X +5 and that passes through the

point (0,4).

Write an equation of the line that is perpendicular
to the line whose equation is 2y = 3X + 12 and that
passes through the origin.

Find an equation of the line passing through the
point (6,5) and perpendicular to the line whose
equation is 2y + 3X = 6.

Determine and state an equation of the line
perpendicular to the line 5X —4y = 10 and passing
through the point (5,12).

Shanaya graphed the line represented by the
equation y = X — 6. Write an equation for a line that
is parallel to the given line. Write an equation for a
line that is perpendicular to the given line. Write
an equation for a line that is identical to the given
line but has different coefficients.
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1 ANS: 2

The slope of y = % X+5is l The slope of a perpendicular line is —2. y=mx+b

2

REF: 060907ge

2 ANS: 3 REF: 011217ge
3 ANS: 4

1
m, =

L=T3 y=mx+Db

1
~3(9+b

6=3+b
3=D

REF: 061215ge
4 ANS: 4

The slope of y = —3x +2 is —3. The perpendicular slope is L

REF: 011018ge

5 ANS: 4
2 3
m=% .2=-3(4+b
3 2=-6+b
o
2 g-p

REF: 011319ge

6 ANS: 2
mzé 12=-3(-9)+b
m, =-3 12=27+Db
-15=D

REF: 081404ge

5=(-2)(-2)+b
b=1

ID:



10

11

12

ANS: 4

mz—% —4=2(6)+b

m, =2 —4=12+b
-16=b

REF: 011602geo
ANS: 3

The slope of 2y =X+ 2 is l, which is the opposite reciprocal of 2. 3 =-2(4)+b

REF: 081228ge

ANS: 1
6 1 1
m_3_2 m, =— 4_—2(2)+b
4=-1+Db
5=D
REF: 061507ge
ANS: 2
3 2
m_2 1_—3(—6)+b
2 1=4+D
mlz—g
-3=Db

REF: 061719geo

ANS: 2
o3
2
2
ml=—§

REF: 061812geo
ANS: 3

m=

REF: 062406geo



13

14

15

16

17

18

ANS: 2
4 _4
S -55

5

ml=—z

REF: 082308geo

ANS: 1
A2
-6 3

3

ml=—§

REF: 011820geo

ANS: 1
L _4-4_8 4
S 4-2 -6 3

3

mlzz

REF: 082418geo
ANS:

2

3
y= 3 X +4. The slope of a line perpendicular to the given line is — 5

An equation of the perpendicular line is y = — %;{ +4

REF: 010834a
ANS:

REF: 081533ge

ANS:
y:%x+1.2y+3x=6 . y=mx+Db
2y =-3x+6 52%(®+b
3
Y==3%X3 s_44p
m=—2 =P
2
2
2 y:§x+1
m ==
3

REF: 061036ge

ID: A

The given point is the y-intercept.



ID: A

19 ANS:

5 4 4
m_4,mL_—5 y—12_—5(x—5)

REF: 012031geo
20 ANS:
y=x-5 . The given line has a slope of 1. A parallel line would also have a slope of 1, but a different
y=-X-6
2y =2x—-12
y-intercept. A perpendicular line would have a slope of -1, the opposite and reciprocal of 1. Multiple the

equation of the given line by any number (other than 1) to find identical lines. There is an infinite
number of answers to each of the three questions.

REF: 080130a



